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(i) 8% of a sum of money is €24.40. Find the sum of money.
(ii) A bill for €57.60 includes VAT at 20%.
Find the amount of the bill before VAT is added.




By selling a car for €14 400, a dealer would lose 4% on the purchase price.
(i) What did the dealer pay for the car?
(ii) Find his percentage profit if he had sold the car for €17 250.




Exercise 5.3

1. Express each of these as a percentage:

(i) 0.25 (i) 034 (i) 5 (iv) 2 (v) =

257" 34/° 257" qo/ 1S /o




Exercise 5.3

2. Express each of these percentages as a decimal:

(i) 75% (i) 50% (i) 64% (iv) 6% (V) 2%%
3 90 - b4 16 3 -
m 00 ~ 2 00 275 ;'5'06 yo="0%5
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Exercise 5.3
AW
3. Work out each of these:
(i) 15% of 75 (ii) 80% of 70 (iii) 45% of 120
(iv) 9% of €350 (v) 26% of €850 (Vi) 29% of 600 cm




Exercise 5.3

vV,

4. Find (i) 25% of 300 (i) 75% of €380 (iii) 120% of €400




Exercise 5.3

5. Write these as percentages:
(i) 20 out of 80 (i) 30 out of 200 (iii) 23 outof 10




Exercise 5.3

6. (i) Express 510 marks as a percentage of 600 marks.
(i) Express 50 ml as a percentage of 1 litre.




Exercise 5.3

7. If 35% of a number is 297.5, find the number.

35/0= 2Q3.%

e - ¥
Vil — 2;: - &S50

(00 /o= 850 Xi00 = 850




Exercise 5.3
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8. Work out each of these:
(i) 30% of 150 45 (ii) 80% of 140 |12 (iii) 35%o0of 140 Y 9
(iv) 32% of 180 (v) 16% of 200 kg (vi) 69% of €88
51 6)° 32y £60-32
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Q) wueose, €134 by 9/°

() ot 97 of 134 and add 1t on
134 4 12:06= € 14606

lnor et
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70 Dec rease
R Decrease 820 by 26/

@ w 2‘70 Md sub lrad'
¢q0 X 26/° = 231-4

§90- 291U = 658 6
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Qt) A playstaton cosb €33
after o ducount of 207

nas bean taken off . What Was
Hae wmarked price of the playstahon
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Q) A solictors fee fo wa
cale of ahouse \s _,1‘.!_2_/..
of Ha Se.“d\’ price. \¢
fee 13 €0,500 calculate WNa

sUlag prece’
2' /0= €10,500
: 10,500

0070 = {200 x 0 =€429000






Exercise 5.3

9. (i) Increase 12 by 50% (ii) Increase 140 by 15%
(ili) Decrease 75 by 20% (iv) Decrease 250 by 3%
(v) Increase 120 by 12%% (vi) Decrease 45 by 5%




Exercise 5.3

10. In a sale, the price of a piece of furniture was reduced bx 15%.
If the sale price was €1360, what was the price before the sale?

00— (=45
1360 = 8S/°
1360 -
.6 = /EE = '/°

1.6 X (00 00/°
€ 1600




Exercise 5.3

11. Inasale, the marked prices are reduced by 30%. full
(i) Calculate the sale price of a jacket if the marked price is €350.

(ii) Find the marked price of a dress if the sale price is €168.
, 7
1) 3so x307°=- 165 2) Fullprice.
- 105 - €63 = 700
E2us  sale price. 65 _ 1%
4 25 7

2-4xioo 10077
£ 240 marked pre,




Exercise 5.3

12. The price of a television set is €780. 10 0./
If this includes VAT at 20%, find the price before VAT is added.

1TV 4+ VAT
ok 10070 4 2070 = 120 /e

120/0= 180
1+ 50 6-S

o
\/“" o

007 ? 6-5x w00 =650




Exercise 5.3

13. By selling a jacket for €416, a store makes a profit of 30%.
(i) Find the cost price of the jacket.
(ii) If the jacketis reduced by 10% in a sale, calculate the percentage profit the store
now has on the cost price.




Exercise 5.3

14. An estate agent charges 0.75% fees on the sale price of a house.
(i) Find his fees if a house is sold for €450 000 and VAT @ 20% on his fees is added on.

(ii) Find the selling price of a house if the fees are €2775 before VAT is added.




Exercise 5.3

15. Over a five-year period the population of a town increased from 145 000 to 205 000.
What percentage increase is this, correct to the nearest whole number?




Exercise 5.3

16. When an item is sold for €176, the profit is 10% on the cost price. When the selling
price is increased to €192, calculate the percentage profit on the cost price.




Exercise 5.3

17. A greengrocer buys 30 boxes of strawberries at €5.25 each and sells 28 of them at a profit
of 30%. If the remaining two boxes are unsaleable, find his percentage profit on the deal.




Exercise 5.3

18. By selling a laptop for €1150 a store makes a profit of 25%.
At what price should the laptop be sold to make a profit of 20%?




Exercise 5.3

19. (i) Express % of 0.96 as a percentage of 5.12.

(i) 25% of the weight of sea water is made up of salt.
What weight of sea water would be required to yield 100 kg of salt?




Exercise 5.3

20. A boat salesman receives a commission on the price at which he sells a boat.
The commission is calculated at the rate of 5% of the first €10 000 of the sale price of
the boat plus 3% of the remainder.
(i) Calculate his commission on a boat which he sells for €20 000.
(ii) Find the sale price of a boat on which he gets a commission of €740.




Exercise 5.3

21. %of the girls in a school are over the age of 16.

The school has 675 pupils of whom 56% are qirls.
How many girls in the school are over 16 years?




Exercise 5.3

22. The price of a games console is €484 which includes VAT at 21%.
Store A offers a discount of 222% on the selling price.

Store B says that it will not charge VAT.
In which store is the selling price the cheaper and by how much?




Exercise 5.3

23. A petrol-engined car costs €28 600 and a diesel-engined model of the same car costs
€31 500.
Information on the running costs of the two cars is given in the table below:

Cost of fuel per litre No. of km/litre
Petrol car €1.45 7
Diesel car €1.36 9

If each car depreciates by 20% in the first year, calculate the difference in running costs
(including depreciation) for the first year during which both cars travelled 18 900 km.




Answers5.3

o

10.
11.
12.
13.
14.
L=

17.

19.
20.
21.
22.
23.

() 12.5%
(i) €800
84

(i) 34% (i) 25%

(V) 15%
(i) 0.5 (ili) 0.64
(v) 0.025
(i) 56 (i1i)) 54
(v) €221 (vi) 174 cm
(i) €28.50 (1)) €480
(i) 15% (ili)) 25%
(i) 5%
(i) 112 (ili)) 49
(v) 32Kkg (vi) €60.72
(i) 161 (iii)) 60
(v) 135 (vi) 42.75
(i) €240
(i) 17%
(i) €370000

16. 20%

18. €1104

(i) 4000 kg
(i) €18000

Store B by €23.50

€479




